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120-BC
B-Scm'cumm-ctlm. (Hons.) (Part 1) Examination - 2018
(Compulsory Paper)
gENVIRONMENTAL STUDIES AND DISASTER MANAGEMENT
Time Allowed : Two Hours
Maximum Marks : 100

Attempt All questions. Each question carries 1 mark. Mark the
correct choice of answer (A/B/C/D) by blackening the relevant circle fully
with HB. Pencil on O.M.R. sheet. Before marking the answer on the

OMR. sheet, please also read carefully the instructions given on it
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Environmental study is concerned with -

LA} Science

(CY  Population

wafETia sy § wafua o
(A} fEEm

W) T

The book “Origin of Species” is Wwritten

(A} Russel Wallace
(o] Hartshorn

“Aff % e TEE @ daw §

(A)  T8& TEm

(Cy e

An environment is a set of :
(A} Surroundings

(C}  Industrial activities

.q_qu B EE R ERLE LA RdEBi ey |y pe TR P E m Eﬁ %l

(A), dfgm
(C) sienfrs wiafafit

(B)
(m

(B)
(D)

(B)
(D)

Sacinlogy

All of these

i

Lamarck

Darwin

e
=fda

Cultural activities

Physical activities

s wfafafd

How much area of the earth is covered with land ?

(A) B0%
(C)y T0%

et w1 fean &% waa § fgo ¥ 2

(A)  80%
c) 7T0%
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s June is celebrated g -

A Human rights day (B) World environment day

(¢ Republic day (D) Children dny
@ ® T am g

W T ShrEn fram (B fava T
© T R oy e fEE

For 8 healthy environment it is essential to have :

A} Clean surroundings (B) Clean air
{0) Clean water (D} Clean soil
w® vaiEm @ fory s ¢

&), T wRgm (B) TED

i€) T\ 5§ (D) =B T

By which institution “The Red Data Book’ is prepared 7
A}  WHO (B) IUCN

{C) UNEP M) ICSSR
'hmgﬁ'mmmmﬂaﬁaﬂt ?

W) TERES. (B) WG
© gwid (D) e
The book ‘Natural History’ is written by :

() Forbs (B) Buffon

(€ Humboldt (D) Linnaeus
Y el & oEs § ¢

T (B) ow

) gtee D) e
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9. The concept of Garland canal win introduced by
{A) Captain Dastoor iy Sunder Ll Buhugen®
(C)  Jawahar Lal Nehru 1y Medhin Patkar
Mg darm # whwern F3 gt ow h 7
(A) F=3 zE "") qA=TAN agm
C)y Faw=ma e {1y O W

10.  Rain forests of the ocean are ..., .

{A)  Wetlands (3 Coral Reofs
(C)  Estuaries (1 Deltas
78 oEt 79 = o oA k2
(A) g vl By W faafert
(Cy w=h Ly
11. Hematite is a typeofafan ......................occovveae.... OTE.
(A) Manganese {B) Iron
{C) Copper (D) Bauxite
iz P gy - T
(A), B (B) #mA
(C) (D) wEmge

12. Maximum dust storms in Rajasthan are observed at -

(A) Jaisalmer (B)  Nagpur

(C) Jodhpur (D) Ganganagar

T A G —— S ¥

(A), e (B) TR

() g (D) T
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www.uokonline.com

[Cont

W0 AUIjo xﬁn'mmm



www.uokonline.com

Whmh MNE i5 nof g soil prDhIE!ITI ?

: @) Erosion (By Weeds
¢y Salinity (D7 Humus
R 9 wwen wf ¥ 7
(A} STHER {B) EIAEN
(©) A (D) FYEE
14. The first stage of coal formation is :
(A)  Anthracite (B) Lignite
(C) Peat () Bituminous
fren Fmin 5 gam FEEA ¥
A} TREER (B) forre
© @ . oy fagfm
15. Operation flood 18 concerned to :
ia)  Fishing (B}  Disaster
(C) Irrgation (M Milk
AfeEE YT W gAY ¥
(A) weEm (B) ww@ A
) fo=§ M) 744
16. Which non-metallic mineral does Rajasthan have monopoly ?
(A) Gypsum (B) Coal
{C) Silica (D) Graphite
TRgR F frn avfes afw w w@ivEr § 2
(4) forem (B) wruen .
() fafeam D) TR g
120-BC) 5 [Cuntd,gq.
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17,

18.

Overgrazing may lead to :

tA}  Soil erosion (B) Water pollution

( ne of these
(¢} Soil pollution im Ne

wframe & Wit B wEm € e

(A) T ITOTEA (By A FgE

(C)  HR WEET @ T g

The total of physical and biotic energy and mass of the earth is knoWo as -
(A)  Stock (B) Resource

(C) Reserve (D} Potential reserve

qﬁm\ﬁhﬁaézfﬂaﬁﬁaaﬁmmmﬁﬂm%:

(A) T (B) TEER
(C) wfEm WUER 110 D 11 o e AT

DDT is banned due to :

19.
{A) Long persistence in the environment
(B) Highly toxic to human
(C) Kills useful insects also
(D) None of the above
AAA wE B wEfes fma o ¥ s
(A) ®g @l sl a% vafar A O R
(B) wrHa & fou smfes wes ®
(C) T® TVEIE FE F o oA @ R
O IgE # } =
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center for Environment Education is 10_'3“*-'7"-'] in

20.
1A} Ahmedabad (B} Punjab
(¢ Allahabad (D) Nene of these
i e @ wnfm ¥
(A) IR @) Tma H
€ TEEEE A @) i & #E
91. Tata Energy Research Institute is located in @
{A) Mumbai (B} Chennai
(C) FKolkata Dy  New Delhi
7 v frwd wdegE fem ¥
(A) HaiH @ w=E d
(C) Herwrm A My feeet #@
22 WWF stands for :
(A} World Wildlife Facility
(B} World Wildlife Fund
(C} World Wildlife Fund for Nature
(D) None of the above
WWF &1 ¢ % .
(A) @2 ARcedEE hiatee!
(B) dvd TEeEORT FUE
(C) acd ANTTART WUT GH I
0w R R 2
12541 7 [Contd..%‘
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23. World Population Day is gbserved on :
(A)  July 11 ®) August 11
(C) September 9 (D) June 5
fava s fzam WA W@ R
@A) 11 T R (8 11 T
() 9 faa=w ® @ 5 W
24. Ganga Action Plan Phase-l was implemented in the year :
(A} 1985 (B) 1980
(C) 1986 (D) 1927
M TR T WY W g
(A) 1985 # (B) 1980 #
(C) 1986 # @) 1927 A
95 Which of the following is oldest hill ranges ?
(A) Aravallis (B} Eastern Ghats
(C) Himalayas (D). Vindhyachal
woR g v gEen ¥ - '
(A) el (B) udt W=
© femem Dy o=
96. Silent Valley National Park is located in :
(A) P.unjab (B) Uttar Pradesh
(C) Kerala D) Gujrat
Ageve &l T Tom fem ¥
(A) "= ¥ . (B) T wew §
(€) %@ A ®) T
120-BC] 8 (c

www.uokonline.com

um:}'auntréqon'mmm



www.uokonline.com

KARTANEN Tigrer Reserve is located in °

A Jharkhand (B) Assam
O Rihar (D) None of these
T TR frd frum ¥
L.’l] FiEs | (B 39g |
© fam s o A W
9% Feology’ term was coined by -
(A} E. Hackel gy RL. Smith
i€y E.P. Odum (DY None of these
T e W ged use wEn Ao
TV gy smua. fam 3
€ 3. Frzw 3} @ T @ e A
9 Desert {(arid zone) is located in Rajasthan at .
{A) Western side of Aravallis (B) -Eastern side of Aravallis
{¢) Northern side of Aravallis (D) Southern side of Aravallis
gaera A e femm ¥
@) osuEe @ o # (B) smween 0@ #
) awEet # ICH M)  srael ® zfum 3
30, Which of the following is source of air pollution ?
(o) Milk Dairy (B} Distillery
() -~ Bakery (D) Cement Industry
4 7
brfrfn § @ FFE an-uE F A &
Ay 7Y = 2Ti (B) fefean §
(D) €W @ FrmE =
(c) i :
]mﬂt] 9 [Conte2
3
]
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31.  Natural Ozone gas remains in

(A)  Troposphere (B} Stratosphere
&

ch None of lhl!Hif

(Cy  Both
gt % @ ohdm wm w@ o § o
(A)  Frdepm d (B) HRAERA
(C) =t 4§ (D) w8 @ ®1E F#
92 Wildlife (Protection) Act was enacted in the year :
(A) 1988 (B) 1750
(Cy 1972 (D) 1992
FAAE (W) FA AL B
(A) 1988 ¥ (B) 1750 #
(C) 1972 9 D) 1992 ®
33 Excessive amount of fluoride in drinking water 1s :
(A) 1 PPM (B) 11 PPM
(C) 15 PPM (D) 21 PPM
3 @ o § wegE @ afuswew A E
(A) 1 dLdtum (B) 11 di.dhum.
() 15 ddem @) 21 ddm

34, Who gave the concept of hot spots of biodiversity ?

(A} A.G. Tansley (B} Norman Myers

{C) Lindmann (D) Charles Darwin

Aafafaya & @@ e F sEunon FEA W &t @ 2

(A) st = (B i3 wrad

() faveda (D) =rew Ffd
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3b

7.

38.

1ha .
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Gobi desert i situated in which contipent ~
(A} Australig (By  Europe
()  Asia (D) Alfrica
A TR o e G fom b 2
(A) ey (B) T
(C)  ufymy D) FEE
Gir forests are famous for
(A)  Godawan (B) Asiatic Lion
(€} Spotted Dear (D Tger
R % wma frafae wfeg & 7
(A} TirerEm (B) TR fo=
(C) fadrer fw (D) =
Which is an example of a producer ?
(A) Mu shrutaﬁl {B} Rodent
(C) Maize (D) Human
TEF F TR T
(A) AT (B) FTF
(D) wHHE4g

(C)y HFHI
Which of the following is not associated with land ?

(A) Waterlogging (B} Desertification

() Salinization - (D) Climate change

<
ﬁmﬁqﬁﬁﬁﬂﬂmmuﬁﬂw‘mﬂﬁ%? 2
g

(A) S (B) . wEzuEEHm z
) A D) weay ufEds g
e

11 2
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39.  Excessive amount of nitrogen and phosphorus in Water causes :
(A} Succession (B) Acid rain
(1 Eutrophication (D) Waterlogging
@ § aeid 8 wiepn & sfuam @ @ gm ¥ 7
(A) ST (By EAd T
) gofwsyA (D) e
40.  Excessive amount of which gases cause acid rain ?
(A) 850y and NO, (B 80, and HyO
(Cy €O and CH, (m  CH, and H,
i § Fwee el w0 sfuw 3 ol ael B4 ¥ 7
(A) SO, 3 NO, (B) 50y 3 H,0
(C) €O 3t CH, M CH, 3m H,
41. What is the full form of CDM ?
(A) Complete Development
(B} Clean Development Mechanism
(C) Clean Development Method
(D) Clean Day Mechanism
wE . w1 @ w R )
(A) FER FEETE=
(B) 7 Eaewd= fafyem
(C) =M ToEyH= d9g
(D) A g fEfm
120-BC] 12
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ﬂhll‘-‘h controversial dam is situated on Narmada river ?

42,
&) Sardar Sargvar {B)
0 Hirakud (D)
W T W am fawies M fem k9
(A BT i (B)
© (m
43.  Shn Sundarlal Bahuguna is related to :
{A)  Silent wvalley (B)
(C}  Chipko movement ]
f e T fEed wafua § 2 _
(A) = &= (B)
) fam= A== (D)
44. Human Rights Day’ is observed on
{(A) 20th December (B}
{C) 11th November (D)
‘ara wyEn fem' fFw 3 w9 & 2
(A) 20 fewen (B)
(Cy 11 7331 (D}
45. Where are the Kolar gold mines located ?
(A) Karnatak (B)
(Cy Goa {Dy
wam @ # ard v fam ¥
A)  wFfE (B)
(c) T (D)
120-B() 13
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Bhoakrs Nangal
Tehri

Feit

Kashmir valley

Women empowerment

wHydn &
Hieen Hyfaasm

15th May
10th December

15 ut
10 fammn

Punjab

Maharashtra

[Contd...
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46.

47.

48.

49.

Khetri, located in Rajant hi
(1)

(A} Bauxite

(Cr  Silver th
wrvam f @ @ feww A A b
(A} #EfFaE2 (B
(Cy =t (n
Meaning of the word El-Nino is :

(A) Small child (B}
(Cr Girl ! ()
-9 7 oW wfes ad ¥

(A) T Tw (B)
(cy anfera (D)

. 1
T LE LUIUL for piodl

u of
{lopper pyrite

(old

T T
airn

Adult
(ld man

A
T ST

Where is National Institute of Wind Energy situated 7

(A) Delhi (B)
(C) Chennai (D}
TEA FA F TE[E geIE e fom ¥ 2

(A) fe=eit (B)
() == (D)

Chief source of energy in environment is :

(A)  Fire (B)
(C)  Sun (D
qaE d F9 w1 W@ d@h b

(A) Fm (B)
© o)

120-BC) 14
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Goa

Mumbai

wiran
Gt

Moon

Stars

oY agmo Jomrmamam
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50. An animal that can tolerate the heat of desert is

iA' Rat

0y Cow

(B)

(D)

% Wq A e F1 OvA GEA W WE@ T

(A) |
(Cy "=

51, Full form of CNG is :
(A} Commen National Gas
{C}  Commen Natural Gas
WS+ ‘]“T ¥ #
(A) @ TeE i

)y =M Igm i

(B)

(D)

(B)

AD)

(B}

()

52. Depletion of ozone Jayer is mainly due to :

(A} Methane

() Chloroflusrocarbons

s v feFm & e wm b

4) I
(C) Ty
120-B¢) 15
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(B)

(D)

(B)

(D)

Camel

Lion

&

Compressed Natural Gas

Certified Natural Gas |

FOEE A W

Carbon dioxide

Nitrogen

FEA ERAFEEE

[Contd.
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53 Animalts) which ig/are active }
{A) Rat
(C) Cockroach

ﬁ{ﬁ)ﬁmﬁgﬂm!ﬁmtﬁ:

A T®
(cy faeag

54. Which of the following has maximum speed ?

{A) Air

{C) Sound

fe § A feww T afewan ¥ 7
(A) 7

cy =f

55  Vermicomposting is done by "

(A) Fungus

(C) Worms

d#qen @R ¥R fF oW R

(A) &% 4
() g A
120-BC] 16
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n night :

(B)

m

(B)

(D),

(B)

()

(B)

(D).

(B)

D)

(B)

owl

All of these

7 gt

Water current

Light

A R

Bacteria

Animals

s &
Ty |

3
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56. Thar is the namo of & :

(A} Grassiand (B)  Forest

(€} "Desert (D} Lake

Rl L 2

(A)  aremm w1 {B) &1 =

(C) weem =1 i) wE =
57. Tobaceo addiction is caused due to :

(A} Cocaine (B) Caffeine

(C) . Nicotine (D) Histamine

e, T W e ¥

(A)  wEH (B) FwH

© FdA (D) fewerd=

58  Which of the following problems is not created by neise pollution ?

(A} Diarrhoea (B) Deafness

(Cy Hypertension (D)  Irritation

ﬁrg@m%mﬁﬂﬁﬁmmmqﬂﬁﬁt%?

(A) SR . (B) =
(C) T WA D)y  geemee
120.BC] 1
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55 Bhopal gas tragedy occurred due to

iAr  Methane

W Methylisocyanate
vrma hm At #) TAE Wl
1A) TR

(Ch ffgm ArrdETE2

60. Sugar is form of :

(A} Protein

iy Fat

o TE © o OwY R
(A) WERA

wcy ==

61. Medicine of quinine is provided by :

tA) Cinchona plant

(C) Eucalyptus plant

A H T A o R
(A), fomwm 99 &

(c) mfmdr |

120-BC] 18
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11

(D

(B

{m

(B)

(o

(B)

(D

(B)

(D}

(B)

(D)

Phosgene

_\h"lh}'l amim:

wredT
e THA

Carbohydrate

Water

Money plant

Aconite plant

T we |

Haen dy @

AAVM

[Contd,,
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” 65  Aadity or Alkalinity is measured as
g2, How many muscles are there in a human body *
iAr  EH
(A) 600 (B) 700
c
(© 800 @) 900 ‘1 EO
T i # fr e T § 2 nsten W wiw o
(A) 800 {B) 700 ‘A) EH 7w
(Cy 800 (D) 900 iCy EO@m
The headquarters of UNEP is located in : 66. Salim Al National Park is located in :
(A) New York, USA. (B) Washington D.C., US.A. (A} Himachal Pradesh
(C) Nairobi, Kenya (D) None of these (C)  Uttar Pradesh
T % geed e ¥ wE™ Ml e IO fowm ¥
(A) =qEr, sfE A (B) =rfymed €1, s # R S——
(C) Ao, wen | M) 8 ¥ = 8 ©) TmEm g
Which of the following was responsible for minamata disease ? 67.  Fluorcsis is caused due to -
(A) He ® P (A)  Low pH
© cd ™ Cr (C)  Low Nitrates
L | ? N
mwmi‘lmﬁ%fmﬁﬂﬁﬂm I | e e @ b
B
(A) T ) #E : ) W pH
defirm (D)  wifaam =
© £ (€ FA e
19 ‘ [Cunér
=, 120-BC] 20
P
]
8 www.nokonline.com

iR

i

(B

(D)

(B)

(D)

(B)

(D}

(B)

(D)

pH

pH gM

pK gl

Jammu & Kashmir

Gujrat

g i |

TR

High pH

None of these

Hﬁ-ﬁipﬂ

A B

)

-]

=
um:}'augﬁo Jommanm
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68

69.

70,

www.uokonline.com

Which of the following is an abiotic factor of environment ?
(A} Plants (B) Temperature

(C) Birds (D) Man

mﬁﬁﬁmwﬁmwgaﬁrﬁﬁm??

(A) Ty (B) woHH
€) fafzm (Dy @ra
Which of the following is a primary consumer 7

(A} Cow (B) Euglena
{C)  Frog (D) Wolf
e & & #mm e mfir soiem ¢ 2

A) T (B) g
(Cy ¥ew D) ifew

The pyramid of biomass indicates

{A)  Total number of individual in a food weh
(By Total amount of organic material in food web
(C) Total weight of animals and plants on earth
(D)  None of the above

srimg| § fgufaz zyfa & .

(A) @ W e @ wen

() @ra @ # wwEiw e w5

© gedt W owEet @ W @ @
() FE A d FE A

[Contd.
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Which of the fllowing s # logical sequence

71 ?
(A)  Producer — Consumer —» Decomposer
(B)  Consumer — Decomposer -+ Consumer
(C)  Producer — Decomposer — Consumer
(D} Decomposer —» Consumer —+ Producer
= # 4 Frd ffea gam & 2
(A) TORE - i - feEErm
(B) 3viEn — fewoim —» Z9uE
(C) TemE*® — fEwoien - o
Dy fegwcr — TI¥EE — RS
72.  Which of the following food materials is an important source of protein ?
(A} Pulses - {B) Vegetable
{Cy  Fruits Dy Cereals
fra 4 4w T wd R W owee we o7
(A) == {B) w=ft
(CL %A D ==
73.  Which of the following is not a part of water cycle ?
(A)  Ewaporation {(B) Precipitation
{(C) Condensation (I Nitrogen fixation
= 4 A e i weew & e o & 2
(A)  amfiw (B} dfe
€y "o (D) ey s
120-BC] 22 [Contq..,

www.uokonline.com

WO QUI[UOYOI MMM



www.uokonline.com

(Al Depth (B Humidity

(€' Temperature (I  Symbiosis

ﬁﬂﬁhmmmﬁmmmﬁﬁﬁmﬁ%?

A} TEmE By FE
(C)  rmm (D) wEAE

75 Presence of different species in an area is

w Cagquatic Coos
T Which of the following is nof an abiotic factor of aqu:

www.uokonline.com

ystem 7

17 Our Sun is

AT DPlanet
(y Comet
| et 11& k.
(A T

(C)  vodg

78. Wo have days and nights because of :

(A Biodiversity (B) Species diversity (A) Earth's rotation
{C!  Genetic diversity i1 Ecosystem diversity (C)  Sun's rotation
ﬁmﬁaﬁﬁfaﬁﬂmﬁl'ﬂrﬁﬁimmmw-ﬂmﬁmn%: oy ol o A ¥ .
(Ay Aafafaum (B) ety fafauar (A) q@*wgm
i wfifegiaa! @ WA
' Dy wftfeafosr @3 fafasm © T F i
() wratas fafesm
Sranite is afan :
76. The World Ozone Day is celebrated on 79.  Granite is
A) 18th April (B)  16th September (A) Igneous Rock
{A)
C)  22nd December (D) 16th October (C) Sedimentary Rock
(C)
e ¥
faga oA feaw T 1) A
e (B) 16 foaman (A) T R
(A) 18 3 :
292 feamat (D 16 Fal g-: (C) sagRt qg
{Cl £ .’
J 23 [Contd. G- 120-BC]
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{1

(i

(B)

)

(B)

(D)

(B)

(D)

(B}

(D)

()

Satellite

Star

Earth's revolution

Sun's revolution

geEt F afEEee & FRW

T & ufmm F Fm

Metamorphic Rock

None of these

FAFRA WA

@ B W A
[Cuntd..,

WO AUIUOYOI MMM
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80 SPNIios Which is ng More in the earth environment is known ns |
species
W Extine (B)  Endangered
(C) ‘v'u]nerame D) Rare
T (B A o gl & ot & 7w DD
S w5 4
W e (B} WEweA
© 3t M) FEY
81. In India mangrove swamps of Sundarbans are found in :
W Plain (B) Plateau
{C)  Deita (D}  Peninsula
W A gerEd @ osrqe ud ¥ o
(A) Fad (B) W W
) ==& W (D) WEg, T
82  Which one of the following is a natural disaster ?
{A)  Population explosion (B) Voleanic explosion
() Eutrophication D) Nuclear explosion
freg # @ FEH AHAE A ¥
(A), farerrz (B)  waremiEl ITM
() FEma S (D) v fawweE
120.8¢) 25 [Contd...
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83.  In a structure of an ecosystem includes

(A} Abiotic components

{(C) Inorganic components

n% witfrafasl o3 § wfmfaa § o
(A) wifa® W2F

(C) WFHEAF wZF

84. The correct order of food chain is :

{A) Grass — Rat — Snake

(C} Cow — Tiger — Rabbit

@ gEe W w9 E o

(A) ®H — HF - &

(C) Wm — @ — W
85. Biodiversity includes only :

(A} Minerals

{C) Plant

Fafafava o ofinfam § a5 .

(A) @fa
(c) 4
120-BC) 26
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(B}

(D

(B)

(D),

(B}

(o)

{B)

(D

{B)

()

(B)

{D}r

Organic components

All components

Frdfaw qad

¥ Ot "HEE

Fish — Frog — Snake

Snake -» Kite — Habbit

@A — Hewm — Hi
Hﬁ—a"ﬁ'ﬂﬁﬁm

Animal

Plant and Animal

0w ot
[Contd.,
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. - 4w proe o
The products having vcomark, menn Lho li"-“l“ll

K6,
(A} Pollution free ) Beofriendly
{Cl  Chemical free (Al of these
s, foq w R ok, W owd R e e R
(A) T () watefaA
€ TarEgE (D A =

87. National Forest Policy of India was declared in year !
{A) 1950 (B 1952
{Cy 1960 (o 1972
ype 8 e A AfE @ e w Uil
(4) 1950 # (B). 1952 H
() 1960 (o 1972

88. Which may be cause of climate change ?
{A) Overgrazing (B}  QOver-rainfall
(C)  Soil erosion (D} All of these
o Wfady w1 oEne @ awda E oo
(A) s (B) st
(C) 2 aqres ) (DL 2 =i
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sH International Female Day is colebratod on
(AY  Bth March W) 2nd Octobeer
(v 6Hth June iy 1ith January
ofgen feam wa warm w7
iA), 8 = By 2 #=
() 693 (10w
80. Which factor is important for overall growth of a child 7
{A)  Nutrition {B) Literate mother
{(C}  Education D)y All of these
uF wew % qof fawm o fom wham #FE owwer 2
(A) T (By fofam =
)y fow (D), & =i
91, Which is the physical characteristic of the soil ?
(A) Colour (B) Temperature
(C) Texture (D) All of these
fre F & Fm oqm W Naw T R 7
(A) (B) AvHm
=
(Cy A (D), 3 =t §
120-BC) 28 |Conii_§_
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89 International Female Day is celebrated on -
(AY  Bth March 1B 2nd October
(€Y 5th June D 10th January
ufgen feam 3 w9 w0 ¥ 7
(A), 8§ mrd B 2 ¥
(€ 5 94 D) 10 T

90. Which factor is important for overall growth of a child ?
(A) Nutrition (B Literate mother
(C) Education i All of these
T# WF & [ fawm & A W wne Agey § 7
(A) G (B) fofes =
(Cy fomn My, 3 &

g1. Which is the physical characteristic of the soil ?
{A) Colour (B} Temperarure
{C) Texture Dy All of these
fam d A w9 gm oW ifas @ § 7
(A) (B) @m=H
(Cy ™A D), A w

120-BC] 28 [Contd_
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a2 To maintain the natural fertility of sedl we mast e

Al Insecticides

(€} Pesticide

B Fertlan

D

{A)  wtemwE

(C) Fraamw®

D

Arimel mETTY
£ = IAT
=F

93. Richter scale is used to measure the magnitude of

(A) Earthquake
(C) Flood
(A) Y9

(C) 8

94. Which ma}rbeuseﬁ:]forrwmopenﬁm?

(A) Rescue team
(C) Medical team

(A) 9@ g
() fafees od
120-BC]
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Bi  Sonight

D Atomne podues

w1 o qER T EH
By =A@ W

D) Woaw W
(B! Mooetary fusd
D Al of these
(B) W
I 2 T

mm-éunuoiurmmm
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B Which w the example of social pollution ?
A Poverty 11y
WY Land pallution i
v amrern g wgm w1 ¥ 7
Ay windt B)
vt ugEm )

66, “Tul Chhapae” sanctunry iz famous for
(A) Wild Ass (B}
(o Hear (D
@ o s fees fag wfes ¥ 7

(A) T T (B

(C), v D)

Ganga river pollution

ritnes

@ WEN

Black Buck

Wild Boar

wwen ferm

e WA

g7. Which among the following is a non-infectious disease ?

{A) Commen Cold (B) High Blood Pressure
(C)  AIDS (D}  Pneumonia
fr=r § ® wm s oAl R 7
(A} THH (B), = TETEM
(C) TU=H (D) et
120-BC} _ 30 [Contd..,
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98.  The full form of HIV is :
(A)  High Immune Deficiency Virus
(B)  High Immune Deficiency Value
(€} Human Immunodeficiency Value
(D) Human Immunodeficiency Virus
TH.AEE. & 94 ¥4 ¥ ;
(A)  wd 3 Efwfag=d amam
(B) #d gop efpfea=d §=g
(C) wyma zegarefwfaa=h =g
(D), T pgAfefar s

99, Which natural hazard has long duration ?
(A} Tornado {By  Drought
(C) Avalanche (D) Landslide
fem wefas gz 1 ol safa @@ ¥ 7
(A) @ (By H&
(C) Tewsae D), ==

100. Which is a consumer in ecosystem ?
(A) Mango (BY Tea
(C) Peacock (D) Banana
ufifeafaat a3 4 IqvEa ® e )
(A) 3™ B = :
(C). TR Dy & %

120-BC] 3 &
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